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P- 1 Booklet Code : A

Time : 3 Hours Marks : 200
Instructions :

@

(i)

Each question carries one mark.

-‘édﬁ U@'vgg Jisz

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4 in

the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

EYROMREL & J_E16 uffwa:(_;m 2, 3utfd}wu£wy/£uww)uf
o B YR OMREE | e AN S ML £S5 D

The digit in the place of * so that the number 223*431 is divisible by 9 is

ﬁ’”“ B9 223%43 Lo okitnsy
(1) 3 2 4 3 5 4 6

The number of terms in the sequence 2, 4, 8, 16, ...., 1024

e LISt 2,4,8, 16, ..., 102444
O @ 8 3) 9 @ 10

If one third of the one fourth of a number is 15, then one tenth of that number is
el Olo L1819 1530 L1 308 (1L e
(1) 12 (2) 16 3) 18 4) 22

The largest four - digit number exactly divisible by 88 is

19%&5’&@@88;&&@)%&)}’%/&

() 9944 (2) 9768 (3) 9988 4) 8888

If the H.C.F of three numbers which are in the ratio 1:2:3 is 12, then the numbers are

Ut Wolielss Je 126H.C.F 450 g SIS A 61203 2ol
() 12,2436 (2) 11,22,33  (3) 12,24,32 (4) 5,10,15

P11

the remainder when 67 is divided by 7 is
Wl ) ST b 74 679 s
1 4 2) 6 3 1 @4 2
3-A



P- 1 Booklet Code : A

The number which does not suit in the sequence 8, 12, 18, 26, 38, 48, 62 is

S Lubhuusir AU, 12, 18, 26, 38, 48, 62 A+
1 18 2) 26 3) 38 4) 48

| )
If E><(44339+x2):3879, then the value of x is

Sred § e %X(44339+x2):3879,//|
1) 43 2) 57 3) 37 4 47

The L.C.M. of two numbers is 495 and their HCF is 5. If the sum of the two numbers
18 100 then their difference is

360131008 Gkl -5 (H.C.F) A% 72 5851495 (L.C.M)FISbolss6iLelsy
6l
1 10 2) 46 3) 70 @) 90

10.

J5=2.2361,/3=1.7321=

1
53
(1)  1.984 2) 19841 3) 198 @ 2

11.

A sum of Rs. 7,200 amounts to Rs. 9,360 in 6 years at a certain rate of simple interest.
The amount, if the rate of interest is increased by 4% is (in rupees)

Lol 4%9T 26w e Qonz 39,360 640 S G o S 27,200

?(uﬁLJ{?u)Jﬂfﬂ?
(1) 10,080 (2) 10,880 (3) 11,088 4) 12,880

12.

P11

The present worth of Rs. 132 due in two years at 5% simple interest per annum (in

rupees) 1s
?(UfU5u)c‘- g&»fuﬁ}”d/ﬁ/u’l?c‘- l://blé;_u 1324@}&3/”}%&11V5%M£JV»
(1) 120 2) 122 3) 112 4) 118.80
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13. A person borrowed a sum of money with simple interest as given below:
(1) 6% per annum for the first three years
(i1) 8% per annum for the next five years
(1) 12% per annum for the next four years
If he paid a total interest of Rs. 4,240, the money he borrowed (in rupees) is
_JJ‘W’J/"KJVQJVLJ/;”)}"U.{J};AWLJ{.Q
6% et )
SU8%& JLELE L i)
21292 £ i)
(ugs)-c FS S or PSP bl 3,0 2405502 L F 1)
(1) 3,000 2) 3,500 (3) 4,000 4) 4,050
14. A shopkeeper gives two successive discounts of 10% and 20%. If he sells an article

for Rs. 432, then the marked price of the article is (in rupees)

B NS F U e e J Ut e 083282 01 320%110% 253 Stk k]

( - 923 )- di’z y/
(1) 526 (2) 550 (3) 600 4) 626

15.

. 1
Two equal sums of money were invested, one at 4% and the other at 45 %. At the end
of 7 years, if the simple interest received from the later exceeds that received from the

former by Rs. 94.50, then each sum was (in rupees)
. ew P owd 1 P "
/'jUUﬂ;/“;m;/Ur"m;/CUl] !/'/14(7£JV7_/?4 > %6/5;/5'4% ..«gu{d/d/ K:/L/d/uﬂ/dﬁl/u

?(u.fuzgu)uiu;?/.g/;?nw&)’%u94.504;
1) 2.600 @) 2,700 (3) 270050 (4) 2,685

16.

P11

. : .9 . .
The simple interest on a sum of money is ZOf the principal and the number of years is
equal to the rate percent per annum. Then the rate per annum is

S P U2 e GAL L F B A S e~ 6oyt
1) 10% @ 12% G)  13% @) 15%



P- 1 Booklet Code : A

17. The difference between the compound interest and simple interest at the rate of 14%
per annum on Rs. 5,000 for two years will be (in rupees)

?(J.ngu)gnﬁ/.l::fuyz}é)/"”)w;lg(/)f/?;UVZ/; 14%41_£¢AJJVJ)42;.5/5,000
(1) 98 (2) 86 3 72 4) 88

18. A person borrows Rs. 3,200 to be paid back with compound interest at the rate of 5%
per annum by the end of 2 years in two equal yearly instalments. Then each instalment
(in rupees) is

e BRI Gobansg UL S Y S o U Ul 5% 232008 P ]

(um) b F 635
1) 1,764 2) 1,880 3) 1,894 @ 1,924

19. A tree increases annually by%th of its height. If it stands today at 125 cm., then its
height after 2 years is (in cms.)
?Jﬂfﬁbjﬁ'JJ'AﬂJVﬁ"c‘-bj}W&% 125&/}»5@&19@2%&5 % K@bj}'(}:'d l//:..:«}/;..g
(Vusd™)
(1) 160 2) 170 3) 180 4) 185

20. If a certain sum of money at compound interest grows upto Rs. 12,960 in 2 years and
upto Rs. 13,176 in 3 years, then the rate of interest per annum is

s e GF Rz 113,176 U L 3 usie Qs 112,960 S o 28 ]
, ‘-’c‘-u’/ LA

2 1
D 25% @  25% 3) 15% @ 15%

21. The time for Rs. 1,000 to amount to Rs. 1,331 at 20% per annum, compounded half -
yearly is (in years)

¢ F e ade L it Qw1 331482 2,1,000,0 260 20%
1 (Ururs)
1
ONERE @ 1 3 2 @ 25

22. Two numbers are in the ratio of 11:13. If 12 is subtracted from each, the ratio
becomes 7:9. The smaller number them is

sl Ul tlon : 9 b b IS 12 L AU A 611 2 13500
?‘Ly/
1 1 2 2 3) 33 @) 39

P11 6-A



23.

P- 1 Booklet Code : A

The sum of three numbers 1s 186. If the ratio between the first and second is 2:3 and
that between the second and third is 7:9, then the second number is

?‘QQGM/»?.‘L7 : 9 u:;/:“ﬂu/»mz .3 y/@uﬁwg/;wi%//ica186;:561,4&1@.:
1 53 2 63 3) 58 @ 68

24.

The price of a scooter and a television set are in the ratio 3:2. If a scooter costs
Rs. 10,000 more than the television set, then the price of the scooter is (in rupees)

¢ e S Fe 10,0002 gind 03 2 U eruys s

( u: ugu)
(1) 30,000 2) 40,000 3) 45,000 4) 50,000

25.

When 30 percent of a number is added to another number, the second number
increases by 20 percent. Then the ratio between the first and second number is

—Cnd s /;wl%?g Ly 31209 Urssie 193 o Tt 72530% 604 Ll
(“Ly/
1y 32 @) 23 3) 25 @) 35

26.

Ifx:y=3:4,then (7x+3y): (7x-3y) =
(Tx+3y): (Tx=3y) = x:y=3:4 /I
(1  5:2 2) 4:3 3) 11:3 @) 37:19

27.

The students in three classes are in the ratio 2 : 3 : 5. If 40 students are increased in
each class, the ratio changes to 4 : 5 : 7. Originally, the total number of students is

4:5:7 BTGB A0S e n s e 2131 5 AR S

g,f;lﬁm@b_c‘,rw@g‘_}:
1) 100 2) 180 3) 200 4) 400

28.

If ab=cd=ef=1:2,then (pa+qc+re):(pb+qd+r1f)=
(pa+qc+re):(pb+qd+1f)= Fab=cd=ef=1:2 A
(1) 1:3 2) 12 3 2:3 4) 3:2

29.

A pipe of diameter ‘d’ can drain a water tank in 40 minutes. The time taken by a pipe
of diameter ‘2d’ for doing the same job is (in minutes)

UL S 2d B ALK (ETB6ERS Bt 40 a6 ALl
(Uus)
M s @ 10 3 20 4 50

P11 7-A
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1
30. A pump can fill a tank with water in 2 hours. Because of a leakage it took 2 3 hours to

fill the tank. The time taken to empty the full tank due to leakage (in hours) is

oo oS s L 2 et f e 5§ 6t e A it

(kT T ko
(1) 8 2) 7 3) 10 4) 14

31. A water tank is %th full. Pipe A can fill the tank in 10 minutes and pipe B can empty it
in 6 minutes. If both the pipes are open, the time taken to empty or fill the tank

completely is
(1) 6 minutes to empty (2) 6 minutes to fill
3) 9 minutes to empty (4) 9 minutes to fill

e LISt 6/ BA mle (DA 108 A AL c bl £l —f‘JdLJ
QK}’/KJ}J}MA./J‘()'L/UEJ‘(UQ}’J bL;J}{uLU}’u

26l F (2) _/62_/'/dlo )
29l £ (4) 29 S (3)

32. The average price of 16 different books is Rs. 18. While the average price of 14 of
these books is Rs. 16.50 and of the remaining two books, if the price of one is 50% of
the other, then the price of these two books is (in rupees)

ATl sle 22,16, 50t bosl§ 14 St U o LL_}JISJL/}'JU)’V(J;16

u*uru)?u(/(f(.#’ d/uilfu!»ub’c_SO%c;g/»J JJ/&—
1) 13,26 @) 17,34 3) 19,38 @ 21,42

33. [If the average of x and %(x #0) is M, then the average of x? and Lz is
X

_K/b@/ﬂg 5 43 X2 )’c_MJaAlK (x:t 0) salx /

(1  1-M? 2) 1-2M 3) 2M’-1 @ 2M*+1

34. The average age of 28 students of a class is 12 years. If their teacher’s age is included
the average age increases by one year. Then the age of the teacher (in years) is

I st el A T B S e S 12 st S 28 L s a ]

St Ut J%@w
(1) 41 2) 40 3) 39 4) 38

P11 8-A
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A batsman in his 12 innings, makes a score of 63 runs and thereby increased his
average score by 2 runs. The average of his score after 12t innings is

Lol Fi 12 e b il 2t b L e Se bles63 B 128108 ekl
(ALY
1y 4 @ 4 () 35 ) 34

36.

The average of 9 numbers is 30. If the average of first 5 numbers is 25 and that of the
last 3 numbers is 35 Then the 6th number is

S e s63e 35531613 L 7 Tl 25 b3S &L oo 3053165619
1 20 2 30 (3) 40 @ 50

37.

Out of three numbers, the first is twice the second and is half of the third. If the
average of the three numbers is 56, then the difference of the first and third numbers is

m;/f/,t%k‘-%m%ww?ﬁ_c‘- l.mTsz./f‘ulb'ﬁ?)K;ﬁz_/»w% L el
1 12 @) 20 3) 24 4) 48

38.

In an examination it is required to get 40% of the aggregate marks to pass. A student
gets 142 marks and is declared failed by 18 marks. The maximum marks of the
examination is

= = bB18,8 S e 8142 I 6040% L = b4 L3 s LKt

S & b I I bl b
1) 600 ) 400 (3) 460 @) 520

39.

The population of a town is 1,54,000. It increases by 5% during the first year. During
the second year it decreases by 10% and increases by 10% during the third year. Then
the population of the town after 3 years is

P 1096 Tl e b dlois%umd Jbdt e S50 1,54,0008 TS st
?Jnu’/d;gfu@smédwfkc_m)wc;10%uu»£‘)w./:“m¢‘-&w
) 161,700 () 160700 (3) 160083  (4) 1,70,062

40.

P11

A number x is increased by 30% and then decreased by 30%, then the number x

(1) Does not change (2)  Decreases by 6%
3) Increases by 6% (4)  Decreases by 9%
x ISP 30% A U51130% o x st
cltife6% (2 e i (1)
ctnfe9% &) tnible 6% (3)

9-A
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One side of a square is increased by 20%. To maintain the same area the other side
will have to be decreased by

T nd LI 350090 AL 8 pkl
1 1
M 163% @ W% ) 113% @ 143%

42.

Two numbers are in the ratio 5:4. If 40% of the first number is 120, then 60% of the
second number is equal to

e Glr60%bsne 3371202t d0%606dL St e EL5 - 4 5Ll
) 124 @ 134 3) 144 @) 156

43.

In an examination there were 640 boys and 360 girls. If 60% of boys and 70% of girls
were successful, the percentage of failure was

S ke SKEK LI KUY T0% 4L D60% - UL360.51L F640 8 1T
(1) 36.4% @) 354% 3)  32.8% @) 35.6%

44.

A person gave 20% of his income to his elder son, 30% of the remaining to the
younger son and 10% of the balance he donated to a trust. If he is left with Rs. 10,080.
His income (in rupees)

e l0kz St 109600 Blsle b2 & usd30%83 mie e 5/ 2 22098 34TE IS

(Utuz) s QT e 2,10,0800L £ 1]
(1) 50,000 2) 40,000  (3) 30,000 () 20,000

45.

The difference between a discount of 35% and two successive discounts of 20% and
20% on a certain bill is Rs. 22. Then the amount of the bill (in rupees) is

(Ut U ST b 3,223 P63 L 20% 120% 115K 335 90K b AL

?Jndf

() 1,100 2) 2,000 (3) 2,200 @) 2,640

46.

P11

A sells a house to B at a profit of 12%. B sells it to C at a loss of 10% and C sells it to
D for Rs. 21,44,520 making a profit of 15%. The cost of the house for A (in rupees) is

& 2,21,44,520C sl ttS 23y Y Co Yl 10% 2Bt/ 535, E1412%F BUEfIA
g.u’"f(uﬁwu)@éu@w’.éﬁcc_m@v15%1/&,/'/D N
() 20,00,000 ) 18,50,000
(3) 2500000 4 22,50,000

10-A
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A trader sells an article at a profit of 30%. Had he sold it for Rs. 352 less, he would
have gained 20% only. The cost price of the article is (in rupees)

y‘.wfJaiWdt»zo%?t/&,}c;fé;_u352:,,/7‘@%&,/}.5‘@»30%/2.W.L".g
(U:LJ&}J)?J}'?(}(
1) 3,520 2) 3,580 3) 1,560 @) 1,700

48.

A man bought 6 apples for Rs. 24 and sold them at 4 apples for Rs. 20. His profit
percentage is

S B BE Ol U1 sy Ut 3,200 doslly S 32860 Pl
1 25 2 30 3) 40 @) 50

49.

A shopkeeper sold two pressure cookers for Rs. 1,800 each. On one he gains 30% and

on the other he loses 25%. His gain or loss percent in the whole transaction is
(1) 4.88% Loss (2) 4.88% Gain
(3) 3.74% Loss 4)  3.74% Gain

25% g i L 30% L Uty LI eds ST s ped S 0/1,80050 S si sl
?§_b“fyét{uuﬁggéwuﬁ,twﬁ_g&muuﬁ

gassm @ ol 4.88% (1)

R ol 374%  (3)

50.

The profit earned by selling an article for Rs.832 is equal to the loss incurred, when
the same article is sold for Rs. 448. Then the sale price of the article for making 50%
profit should be (in rupees)

=31 /Ut I E N LT b B/ J oy S jte 183202 (]
(VU Seblnfess e d d L3 UTE50%52 by
1 920 2) 960 3) 1,060 @ 1,200

51.

P11

If gross profit is 34% of the selling price of an item and x percentage of its selling
price is equal to 25 percentage of its cost price, then x =

;‘Ldjbféﬂ&ZS&,gi‘cag&u”M& X K&}/'cag/)"aggfr{34%gc«55/'¢ggfgug
X =

(1) 154 2) 165 3) 17 @) 183

11-A
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A sells a pillow to B at a profit of 20%. B sells it to C at a profit of 25%. If C pays
Rs. 243 for it, the cost price of the pillow for A (in Rupees) is

b1 1243 4 Fed A E025% CatfessJB e t/ess 38 20% 5 B FLIA
(JU&)J)‘-‘J}’Z&-’/&)}&%’“ALA;
1) 150 2 160 3) 162 @) 173

53.

In a class having 40 boys and some girls, the average ages of boys and girls are 13.5
years and 13 years respectively. The average age of the whole class is 13.4 years.
Then the number of girls in the class is

Faal$es st gt 13501350 2L Al SUs Al 2t Ul H 40t s e L
?+fQﬁJu[ﬂuf&m?.+JV13.4
1 10 @ 11 3) 13 @ 20

54.

Ratio of present ages of P and Q are 7:3. After four years their ages will be in the
ratio 2:1. Then the present age of P (in years) is

S PISURUErEL2 1 Aol sa T 1 3 rE8Us Frzrd QP

(Uura)
(1) 24 2) 28 3) 30 4) 32

55.

The product of two positive numbers A and B is 240. If twice of B is more than A by
4, then B is

APRS: Ao tnolie J /L de AT 5y Bﬁ.cﬂ-mo_f/d"w Busl Al s
(1 12 2) 20 3) 10 4 14

56.

Four persons can reep 12 acres in 10 days by working for 9 hours a day. The number
of hours in a day that five persons have to work in order to reap 16 acres in 8 days is

iKJ‘jJ}fu16,Gl/'lég _@£¢KJ‘5J%u124_,4&/(5@;1ocyw£§9¢g;l}utg
%nt/(?gguﬁw?nt/?guﬁé’.é
a1 12 2) 10 3) 9 @ 8

57.

P11

A can do a piece of work in 4 hours. B and C together take 3 hours, A and C together
take 2 hours to do it. The time taken for B to complete the work is (in hours)

20 SJCHAt L IS 2 23 UdnC B —e (T e It U 4K 1A
(s e Ksemid B L L L S 2l

(1) 10 2 12 3) 8 4 9

12-A



38.
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A contractor undertook to finish a certain work in 124 days and employed 120 men on
it. After 64 days, he found that he had already done % of the work. The number of

men he can discharge now so that the work may finish in time is

_Lﬁ/[)“? 2 s Sl = AU 643124 /S s T120L £ S S /1

VY(J/_J)(K,{L &/@/bu»’l)/)'i
1) 24 2) 56 3) 64 @) 80

59.

A and B undertook to do a piece of work for Rs. 4,500. A alone could do it in 8 days
and B alone in 12 days. With the assistance of C they finished the work in 4 days.
Then C’s share of money is (in rupees)

L unteal Coa DS 1218 sl e8I TA Wb Ut 2 204,500576 L1 B 1IA

(Ju/)J)VLJ&/’)WJCJ&!UU"?KJ“UA
(1) 2,250 2) 1,500 3) 750 4 375

60.

Seven young men and four boys can complete a work in 6 days. A young man
completes double the work than a boy in a day. The number of days that five men and
four boys require to complete the work is

uﬁ/.l:aub/é&-‘a U://r Kb’i}cﬁﬂg{)/ug-u.?i/yufu;@? K.gﬁﬂj.lgub/u'ﬁ7
¢ (nd’{)ﬁ u;Z( Ke
54

n 5 2) 4 3) 6 @ =

61.

A circular wire of radius 21 cm is cut and bent in the form of a rectangle whose sides

are in the ratio of 6:5. Assumingn = % , the area enclosed by the rectangle (in sq. cms) is
S B L6 5 LWL S it S Tl e 2§ 21 B Pt i

eI bl B =2 S P
(1) 540 (2) 1080 3) 2160 4) 4320

62.

P11

A rectangular paper, when folded into two congruent parts had a perimeter of 34 cm
for each part folded along one set of sides and same is 38 cm when folded along the
other set of sides. the area of the paper is (in sq. cms)

2§ 3 Aot w3 bl AL L U (s Sl i U

??ﬁ@f(U:/b{(.?pd‘/)ﬁ/l()il(_c‘./}"f&p%?é_lgpirﬁl/&:,.{*Jwﬂg/ﬁ;u?w!
(1) 140 (2) 240 3) 560 4 360

13-A
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The side and one of the diagonals of a thombus are 13 cm and 24 cm respectively. Its

area (in sq. cm) is
SC2E I RS 24m 2 13 Ao B
(1) 156 (2) 240 3) 120 4) 130

64.

The sides of a triangle are 3 cm, 4 cm and 5 cm. The area (in cm?) of the triangle
formed by joining the mid-points of the sides of this triangle is

B ( G&@‘ﬁﬂﬁfuﬂuj”ﬁiéwiww-w G s 42838 Wl el
Gl (U2 2GS

3 4) 3

I 6 2) 3 (3) y

65.

Two persons undertake to do a piece of work for Rs. 1,200. One alone could do it in 6
days and the other in 8 days. With the assistance of a boy they finish it in 3 days. The
difference between the shares of the two persons (in rupees) is

m‘aL“J?/u:u;w}Kuw.gau:uuuggwmutgy1,20041&52,(({.9;!/'!»
£uﬁ&;i/'iu]»-ug'&/ﬂKufuﬁ._«@,:cud/&ﬂ.g-‘aW/MJUJSM'/»
e (U Ul

1) 150 2) 200 3) 250 4) 300

66.

Two men undertake to do a piece of work for Rs. 5,600. First man alone can do this
work in 7 days while the second man alone can do this work in 8 days. If they work
together and complete this work in 3 days with the help of a boy, then the amount the
two men together get is (in rupees)

Lot ae (St L&ﬁf@;frm-@%wm&_/ﬁ%K.,gu:z;_ys,mo;t/'u;
?fn@@)@&!}tui,;ut?ugéffutuﬁ L}AL;L%/JU}}}):///’-‘LCC/J{}:U)SM

(Kuzss)
(1) 4,000 2) 4,500 3) 4,580 @) 4,600

67.

P11

If the wages of 6 men for 15 days be Rs. 700, then the wages of 9 men for 12 days will
be (in rupees)

(U e 218012 £ U103z (nz 17002 21 £ 3158076
(1) 840 2) 848 3) 1,050 @) 900
14-A



68.

P- 1 Booklet Code : A

8 men can do a work in 12 days. After 6 days of work, 4 more men were engaged to
finish the work. The number of days required to complete the remaining work is

8L L L TFHET4 4 o L KL 6t 2 S 125 KLISTS
?KU}@ K/;U)zcj.éi./f
(1) 2 2) 3 3 4 CORNN

69.

The number of 5-digit even numbers that can be formed using the digits 1, 2, 7, 9, 4
without repetition is

SRl bolile E L vansinl S 1031,2,7,9, 4 Ursr
1 16 2) 36 3) 24 @) 48

70.

From a group of 6 men and 4 women a committee of 4 persons is to be formed. The
number of different ways in which it can be done so that the committee has at least
one women is

uﬁ&ffbcao'cw%}:@é{;uﬁ)ﬁﬁ.&@ﬂ:@é[&t)ma_uﬁ.{;//iuft}4m;/6
_nu?l}b@ﬁ;!{
1 210 @) 225 3) 195 @) 185

71.

To complete a work A takes 6 days and B takes 12 days. After A and B worked for
two days, C joined them and they completed the work on the 3rd day. The number of
days C alone takes to complete the same work is

JV&U'CM{LL/?K/JB/}’AJU;»-UZ/KAU;12/B/5’U;6 /A{J.LJ;U(K.Q
S SIS EWIC ot L S P e bl JE
(1) 3 2) 6 3 4 4 38

72.

There are five men and four ladies to dine at a round table. The number of ways they
can seat themselves so that no two ladies are together is

?ﬂ;jVjVuf'f»ufgﬁuz ééjuc, uﬁ’.}’g_uguf’f/"lgub/é&!./’?la%ﬁ.‘d}’iﬁ
(1) 3280 (2) 3180 (3) 3080 4) 2880

73.

P11

A class starts at 9:15 am and lasts till 12.38 pm. Four periods are held during this
interval. After every period, 5 minutes are given free to the students. the exact duration
of each period ( in minutes) is

p{igﬁﬂ-ugamigjtgum;i,ﬁﬁw-‘aﬁj12 138 g s AT 9 15241 f]
?‘aLff(uﬁuﬁ)&;g@ﬁﬁ@;;éirm’wsﬁ
1 sl 2) 50 3) 48 4) 47
15-A



74.

P- 1 Booklet Code : A

Two trains of lengths 200 m and 180 m run on parallel tracks. When running in the
same direction the faster train crosses the slower one in 38 sec. When running in
opposite directions at the speeds same as their earlier speeds, they pass each other
completely in 5 sec. The speed of the faster train is (in m/sec.)

Sl PR LI I e St SingUg G e 2 18052 2008L8 LR
uj&/'j& uﬁ/ﬁCS/?ubﬂz./u..«g:,Z_nLj»c; B/;&g e 9.98/?&@%38/@/}’
(I )\l 257

1) 43 2) 45 3) 50 4 60

75.

A train 135 m long is running with a speed of 50 km/hr. The time taken by it to pass a
man who is walking at 4 km/hr in the opposite direction (in seconds) is

%9/&4/0/0/%6}5%4 UfMJ@UJTug§.Lﬁ/f}):;/&/d/:f&/b{)gSOu:/bJ“)ﬂ135
(Ut ) S LS
(D) 10 2) 9 3) 11 4) 8

76.

The distance between P and Q is 27 kms. Two men A and B walk from P to Q at rates
4 and 5 km an hour, respectively. B reaches Q and returns immediately and meets A at
R. The distance from P to R is (in kms)

SE 35 i sE 3Rk P FQ P BaIAGThoc Kk 27 bl QuiP
(L/:/J":)k’/),l""GU&"/}LRJ}’P-‘LCL/?RLA/}"Lt'ﬂu%:’)i/}/)’jQ‘L%B—sz%L/C”/J
7

(1) 20 2) 21 3) 23 4) 24

7.

A train passes a telegraph post in 8 sec. and a 264 m long bridge in 20 sec. Then the
length of the train is (in mts.)

(Ut F oSy He AL 0205 b 22681 2 8y SUTE 2l
1) 180 @ 176 3) 164 @ 158

78.

A can go round a circular path 8 times in 40 min. If the diameter of the circle is
increased to 10 times, the time required by A to go round the new path once, travelling
at the same speed as before is (in mins)

U E o g Bl T2 B 1008 Bsdl e 6B 8 Ut d0 L = Llhs S0A
(Uit AL L0 64 00
1 25 2 20 3) 50 @ 100

P11 16-A



79.

P- 1 Booklet Code : A

A man is watching from the top of a tower a boat speeding away from the tower. The
boat makes an angle of depression of 45° with the man’s eye when it is at a distance of
60 m from the tower. After 5 sec, the angle of depression becomes 30°. the
approximate speed of the boat, assuming it is running in still water (Take /3 =1.732 )
(in kmph)

(AL 0 S e St nZ g er ISt S EHE e S Pl
A GTE e U300 P iwlh 5o (P B8 450 ST P e (e
(V3 =173 &)l CEE AL e it dy

) 3162 2 36 (3) 37.26 4) 40

x(x+1)(2x+1)

80. If 124224324+ . +x%= - ,then 12 +32 4524+ . +19%2=
124324524 . +192=212+22+32+ .. +x2= x(x+1)6(2x+1) I
(1) 1330 (2) 2100 (3) 2485 4) 2500
L 3 2 3
81. The sum of the series is —+—5+—Zz+_+.©
5 5 5 5
2 3 2 3
_%jﬁg g+5—2+5—3+5—4+....00 ,.L-’l"
17 15 13 11
R @ ORI @ 5
82. If a body falls 16 m in the 15! second of its motion, 48 m in the 2nd 80 m in the 31,
112 m in the 4t and so on, then the distance it fall during the 11t second of its motion
is (in meters)
/tCé}Z,‘/b':80@%@/&%48@%{_/»-%.&/@%16&:%%5&?‘}:’34/’1
?(uﬁuﬂ)Jg/?i“(fQﬁﬁﬁ1££.Tuﬁwu(w?f£t’c}wm}<‘112u:
(1) 338 (2) 340 (3) 334 4) 336
83. If it was a Sunday on Jan 1, 2006. The day of the week on Jan 1, 2010 is
(1) Sunday (2)  Saturday (3)  Friday (4)  Wednesday
el ¥ 20 20108.521E 63 2006852141
Sy @ -2 ) s () AP (1)

P11

17-A



84.

P- 1 Booklet Code : A

The dates of April 2001 on which Wednesdays fall are

¥ T UE S ea iU S 2001 4
(1) 1,8,15,22,29 2) 2,9,16,23,30
(3) 3,10, 17,24 4) 4,11,18,25

85.

The calender for the year 2007 will be the same as for the year

6ol e i ¥ 20071
1) 2014 @) 2016 3) 2017 @) 2018

86.

Which of the following is not a leap year?

?‘Lu.‘?;Leap Year( /L)L LUt
1y 700 @) 800 3) 1600 @) 2000

87.

How many times do the two hands of the clock coincide in a day?

?ugé,uf‘jj:l’igujuédﬂi@u;{ﬁc))
1 2 2) 24 3) 20 @ 21

88.

The time a watch loses per day, if its two hands coincide every 64 minutes (in mins.)
is

(Ufov)?nggJ&;@fc))&?ﬂi Kui»id}fui‘_wmﬂ

5
(1) 96 2) 80 3) 38 1 4) 32%
89. The time between 7 and 8 O’ clock when the two hands of a clock will be in the same
straight line but not together is
(1) S min past 7 (2) 5 min past 7
3) S min past 7 (4) 5 min past 7
?Lndzvﬂ@b’uﬁ/ﬁfgw@a Ku);;éd}fJuy/;Lésj,l7&,
2
5= K7 @ w547 (1)
3
o5 ]—5]/.@7 4) _U/Sﬁ/‘.?ﬂ 3)
90. The angle between the two hands of a clock when the time is 8:30 is

P11

etk SN sl UFKUIML S AZ 8130
(1 80° @) 75 3)  60° 4 105°

18-A



91.

P- 1 Booklet Code : A

A starts business with Rs. 3,500 and after 5 months, B joins A with some capital. After

a year, if the profit is divided in the ratio 2:3. Then B’s contribution in the total capital
is (in rupees)
_‘Lt'lgnJlf?ule,u KJVL,:L/JZB/JZ&%S/}“LV/C}/&/E}/ KL:«L/L%—}J:S,SOO‘A
(U upNSnF ot A § BIE 6L 223 Bl d Sl
(1) 9,000 (2) 7,000
(3) 5,000 4) 4,000

92.

A, B and C invested Rs. 8,000, Rs. 4,000 and Rs. 8,000 respectively in a business. A
left it after six months and at the end of eighth month, there was a gain of Rs. 4,005.
Then the share of B in it is (in rupees)

toaollenlolZ ALB\ & 5/8,000 4312 2/4,000¢2— /8,000 Pt U256 CusIA, B
(Ut EL ot 16 BI b2 5,4,005 4 51 22 T
(1) 690 2) 790 (3) 890 @) 990

93.

In business, A and C invested amounts in the ratio 2:1, whereas the ratio between
amounts invested by A and B was 3:2. If Rs. 1,57,300 was their profit, the share of B
in it (in rupees) is

L3 2 A W oS BIA L e 6L 20 1 CnlAA KL
(VAU S A 12 K BIG bl 21,57,300 JI-GBUt

(1) 48,000 2) 47,000
(3) 48,400 4) 47,400

94.

P11

. . . 1 .
A and B are partners in a business. A contributes 2 of the capital for 15 months and

1
B received 1 of the profit. The time that B’s money was used is
(1) 1 year (2) 9 months
3) 6 months 4) 10 months
o 5 1 ok 1 .
e /Sl 7 Buld Lot 15 e b/ AL 7 Ut AU A K BAIA
&9 Q) Jero
&0 4 &6 (3
19-A



95.

P- 1 Booklet Code : A

the number of bricks, each measuring 25 cm X 15 cm x 8 cm required to construct a
wall of dimension 10 m X 4 m x 5 m when 10% of its volume is occupied by mortar is

D8P 10mx 4 mx 5 m (2Kl 25 em x 15 om x 8 em Pl Jeald
_‘L&ﬂUfJEJf%’(JZIO%J/%{’—LL//:;
(1) 40000 () 80,000 (3 70000  (4) 60,000

96.

The radii of two cylinders are in the ratio 3:4 and their heights are in the ratio 5:2. The
ratio of their volume is

?‘ag,wwféut%utqais 02 ég,tJuwut.,_wt':L3 L 4 B_LIE s dehss
(1)  45:32 2)  27:20 3) 35:32 4) 32:45

97.

If base radii of a cone is increased by 30% and its slant height is made double, then the
percentage increase in the curved surface area is

O35 ST b B S st b USLo130% U (base radif) s St bs 2]
R P d P 4 (curved surface)
(1) 140 2) 150 3) 160 @ 170

98.

A hemisphere and a cone have equal bases. If their heights are also equal, the ratio of
the areas of their curved surfaces will be

i//uﬁJ GBS ot (base)str L bs Zal(hemisphere) o /cid{]
6/~ C 6L (curved surface)
(1) 1:2 2) 2 :1 3) 1:2 4 2:1

99.

The height of a conical tent is 14 feet and the radius of its base is 6 feet. If 12 persons
sleep in this tent, the average cubic feet of air available to each person (in cubic feet) is

@«;llnf/uﬁ&?ugLJEIJTJj;!}l12//!_46-#6%@6'@/;!@214&{;!&/2@5}@
_u(n.,l“%uﬁ&jq(
1 30 2 33 3) 36 @) 44

100.

P11

The metallic solid cone is melted and converted into the shape of solid cylinder of
equal radius. If the height of the cylinder is 6 m, the height of the cone is (in mts)

e 260N ik b U A e AL B id ol S Sy B Qoo
(O3S #
(1) 15 (2) 16 3) 17 4) 18
20-A



101.

P- 1 Booklet Code : A

The missing term in the sequence 1, 3,3,6,7,9, __, 12,21 is

ek 61.3.3.6.7.9, 12,21 4L
1 10 @ 11 3) 12 @ 13

102.

The term that comes next in the arrangement of letters given below is.
_‘avui.sﬂ%u:?;}gfquéfe;uﬁds

YEB, WFD, UHG, SKI,

(D) QGL (2) QOL

(3)  TOL (4) QNL
103. The missing term in the following sequence is
_‘Lvugﬁuﬁfuﬁ'}i”d)'@/}
4,9,25, __, 121,169, 289, 361
(1) 49 2) 64 3) 81 4) 87
104. The 21st term in the sequence 3, 9, 15, 21, ... 1s
—e bheus2163,9,15, 21, .. b
(1) 117 2) 123 3) 121 4) 119
105. Which term of the sequence 5, 10, 20, 40, ... is 12807
(1) Eighth term (2)  Ninth term
3) Tenth term (4)  Seventh term
e 1280540945, 10, 20, 40, ... kb
whs () w7 (1)
wUII (@) el (3)
106. 7528 is related to 5306, in the same way as 4673 is related to
e F 4673 LA - e 5306376 75280 A
(1) 2367 (2) 2451 (3) 2531 4) 2641
107. 25:125::49:
(1) 206 (2) 180 3) 216 4) 343
P11 21-A



108.

P- 1 Booklet Code : A

‘BELOW’ is related to ‘OBWEL’ in a certain way. The pair among the following
having same relationship is

e FPsend iU = S itre e OBWEL' ¥ BELOW" = &4 A (]
() REPLY:LRYPE (2) ALONG :NAOLG
(3)  DRAFT:FDTRA (4)  YEARS:RESYA

109.

The pair among the following that has the same relationship as OFTEN : FOTNE is

S iU Ut b s 22 JXOFTEN : FOTNE
(1)  HEART : TRAHE (2) RISKY :IRSYK
3)  OPENS : SNEOP 4) LUNGS : UNLGS

110.

The pair among the following that has the same relationship as that of ROCK :
CROK?

S iU LS sbsst e 22Uk ROCK : CROK

(1) BALE : ELAB (2) MIND : DINM
3) MEAN : AEMN (4) HAND:NHAD
111. 34:12::59:
(1) 14 2) 47 (3) 38 4) 45

112.

If PAPER is coded as QCSIW then in that code EXAMPLE is written as

€2 LW W EXAMPLE /13 QCSIWY PAPER /|
(1) FZDUQRL (2) FZQDURL
3) FZDQURL 4) FZQUDRL

113.

If LARSEQ is the code word for MASTER, then the code word STEAM is

< /¥ STEAM 7= LARSEQ}/¥ MASTER /]
() RSEAL () SREAL  (3) SREAM  (4) SRAEL

114. Precaution : Accident : : : Diseases
(1) Doctor (2)  Patient (3)  Sanitation (4) Medicine
jyl ; DSk bLe
s @ dbee”  (3) Fr @ A5
115. MP:HK :: WZ:
(1) QS 2) PS (3) RU 4) RV

P11

22-A



116.

P- 1 Booklet Code : A

If AIRTEL is coded as CKTVGN, then RELIANCE is coded as

:«3/§ RELIANCE 7/+3/ CKTVGN 5 AIRTEL

(1) TGKNCPEG (2) TGNKCPEG
3) TGNKPCEG (4) TGNKCPGE

117.

If CAR, TIN and BOAT are coded as 364, 182 and 7561 respectively, then
CONTRACTOR is coded as

. /¥ CONTRACTOR 775611364, 182 =4t BOAT4ICAR, TIN.]

() 3521643154 (2) 3521463154
(3) 3524163154 4) 3521634154

118. The odd thing out of 338, 158, 639, 543, 449 is
S Ll Ut 338, 158, 639, 543, 449
(1) 449 (2) 639 (3) 543 4) 158
119. In the letter-number sequence ZG 13, , VM 17, TP 19 the correct letter number
that fills the blank is
—ewBld S EetZG 15, VM 17, TP 19405 .37
(1) XJ 15 2) YI17 3) YII5 4) RS15
120. The next term in the sequence of letter arrangements is
e cd[JﬁfiiuﬁML - /"d/ 7
AD, FC, HK, MJ,
(1) NQ 2) 0Q 3) MP 4 OR

121.

P11

A woman going with a boy is asked by another woman about the relationship between
them. The woman replied, “My maternal uncle and the uncle of his maternal uncle is
the same”. The relationship between the lady and boy is

(1) Meternal grandmother and grandson

(2) Mother and Son

3) Aunt and Nephew

4) Paternal grandmother and grandson

.l,)_.«b?!_u? G- Ly J:LJE;L}:"./U&"/}L U’J_c«/fd/»_uidb l.m»’lzﬁﬁﬂu? léug
—e Il LA gIe 13 GLiul S ot L iUl 2

Lol () 3t (1)
1245 (4) FUsJe (3)
23-A



P- 1 Booklet Code : A

122. Pointing to G a person D said, “His only brother is the father of my daughter’s father”.
Then G is related to D as

(1) Grandfather (2)  Father
3) Brother-in-law (4)  Paternal Uncle
e BN DE G e AL G2 QU e SIS A 6 DA
s b (1)
by @) 2E )
123. Examine the following relationships among members of a family of six persons - A, B,
C,D,EandF
(1) The number of males equals to that of the females

(i1) A and E are sons of F

(ii1)) D is the mother of two, one boy and one girl

(iv) B is the son of A

(v) There is one married couple in the family at present

An inference that can be drawn from the above information is

(1) A, B and C are all females (2)  Aisthe husband of D

3) D is the grand daughter of F (4)  E and F are children of D

Z L SUFS Esulenl UE6AIZF A, B, C, D, E
ce e EUBHLIS U, ()

& ZFUME sIA (i)

AL e D i)

KA<—UB  (iv)

~ IS L NI I (v)

S P E b et o

< #6DA () AP ECHIAB (1)
UFSEELD (4 <DSHSF )

124. One among 17, 19, 23, 27 and 29 is different from the other four. The one which is
different is

Sl Ll e A3 29 417,19, 23,27
1 17 2 19 3) 27 @ 29
P11 24-A



P- 1 Booklet Code : A

125. K is the brother of N and X. Y is the mother of N and Z is the father of K. The
statements among the following that is not definitely true is

(1) K is the son of Z (2) Y isthe wife of Z
3) K is the son of Y (4) N s the brother of X
_§.ufé;;b5uu/¢;u:.~,L't,.J“s@u_KKaa-,;gszN §.uLY_§.KJLéKX/;!N
<Yéudz @ <KEEZ (D)
NG X (@) <KBKY (3
126. Anthropology : Man : : Anthology : ?
(D) Nature (2)  Trees (3) Apes (4) Poems
. e T el
U@ Ut G) =5 Q) =i (D)

127. A man stands facing west. He turns 45° in the clockwise direction and then another
180° in the same direction and then 270° in the anticlockwise direction. The direction
he is facing now is

(1) South (2) North-West (3)  West (4)  South-West
270° S A D e B 511800 nle o 45° S Sorea AL S PP
S A LS e

e N C) = B O =2 D
128. A man walks in the directions given below:
(1) 50 m to East (i)  then 50 m to South
(1i1) and then 120 m to West (iv) later 25 m to North

(V) and finally 70 m to East
Then the distance (in meters) between the starting point and the last point is

..%l?’/}’uﬁ:a/(f“}g/ﬂuﬁ;g

SARES0A i) SASGSH50 )
SASJERDS S (iv) SAE 1204 (i)

SAEGSHI0EF T ()
Qc‘,w/(uﬁJ/b{).L‘bjrcbic;Jl&TrWC/u’l
(1 25 2) 30 (3) 40 @) 50

P11 25-A



P- 1 Booklet Code : A

129. Rohan walked 40 metres towards North, took a left turn and walked 20 metres. He
again took a left turn and walked 40 metres. The distance and the direction in which
he is from the starting point is

(1) 20 metres East (2) 20 metres North
3) 20 metres West 4) 100 metres South
il e et a0 r b U L A Uaa 24220 0 b Ve U 22400 ASUEA

?c‘-y/:a//)'#sc;
SREI00 @) HAE20 ) JEK20 @ JUK20 0 )

130. Amit walked 30 metres towards East, took a right turn and walked 40 metres. Then he
took a left turn and walked 30 metres. The direction in which he is now with respect to
the starting point is
(1) North-East (2)  East (3) South-East (4) South

304 2 e Ao b o240 A e U 30500 e
?‘CMJ/C/KU’LQ‘?JJfWém’-‘L%
=2 @ IR 0 37 @  Jdé

131. A,B,C,D, E, F, G and H are sitting around a round table in the same order, for group
discussion at equal distances. Their positions are clockwise. If G sits in the North,
then D sits in the direction
(1) East (2)  South-East (3) South (4)  South-West

Cu-g 5 Lo i [y Al S 2 IS Ut 27 STHAMA, B, C, D, E, F, G
B ter Die Bt JEC e b Ay
R @ =7 0B R Q) S )

132. In a dinner party both fish and meat were served. Some took only fish and some only
meat. There were some vegetarians who did not accept either. The rest accepted both
fish and meat. The correct diagrams that reflects this situation is

ARSI Ve A LA bl U .,/,C,l&;u*&/t/;yf
_L&/&Ju/u“t{oifdbwﬂw UL@LAZ!J“’; Ul udPaL- J_u”’ui»z_urf’

CO)

NS

(1) O 2)

3) @ “4) O @

P11 26-A



133.

P- 1 Booklet Code : A

Some of the cricket players are tennis players, some tennis players are hockey players
and no cricket player is a hockey player.
The diagrams that correctly represent the above statements is

G AN SIS AT I (N S MY AT et
S G50 Bl i b i

(1) 2) O
' (D

134.

The number that is in all the geometrical figures is

—e Ut uﬁd /"f;f( Vs il

135.

(1) 4 2 5 3 38 “4) 3
In the set of real numbers the equation 2x + 3y = 5 has
(1) no solution (2)  only one solution
(3) infinite number of solutions (4)  finite number of solutions
K2x +3y=5 c«bl/uf:«{‘i)w’(}f}
<JSLss @ cuiS W
anrS e (@) g Sy (3)

136.

P11

The number with the second, the fifth and the eighth digits in that order of the number
31549786, is a perfect square of a two-digit number x. The units digit of x is

6 x srente Uou Ut oG win [ P TI  Le pndl o228 3154978654
_c‘_/ﬁftfu:’;(l}nﬁégid/x? <4‘_(',J;/¢ﬁ>
(1) 1 2) 6 3 4 4 2
27-A



P- 1 Booklet Code : A

137. In a row of boys, K is fifth from the left and R is sixth from the right. If they exchange
their positions, K becomes the thirteen from the left. Then the position of R from the

right is
(1) Seventh (2)  Eleventh
(3) Fourteenth (4)  Eighteenth

SRS DKt e g (2 e IR s 6 £ Lo U UK Ui f s
e LR R i by o P LK

(@) JI- ()

JE (4) g (3)

138. If Rohan ranks seventh from the top and twenty-sixth from the bottom in a class, then
the number of students in the class is

VJ;’ZQG'EJJJ&V?%{(Gﬂg{}ﬂ@é{i/%? l/c;/?}'gﬁu/%'u':&mvg
(1) 31 2) 32 3) 33 4) 34

139. If L stands for +, M stands for —, N stands for x, P stands for + , then

[(14N10)L(42P2)]M8 =
[(14N10)L(42P2)]M8 = PAEANDILATS SIS NP LS Y| :'+'_/le/7
(1) 153 2) 216 (3) 248 4) 251

140. If 20 — 10 means 200, 8 4 means 12, 6 x 2 means 4,
then [(100 — 10) x (1000 1000)] (100 x 10) =

e b K6 x 2 12 AAK8 + 4200462010 1

[(100 — 10) x (1000 1000)] (100 x 10) =
(1 20 2) 1090 3) 1900 @) 0

141. Square : Cube : : Area:

(D) Side (2)  Diagonal
3) Volume (4)  Perimeter
R J( e, e
e &

A @ i 0

P11 28-A



P- 1 Booklet Code : A

142. There are some benches in a classroom. If four students sit on each bench, then three
benches are left unoccupied. However, if three students sit on each bench, three
students are left standing. The number of students in the class is

M U A S b U U B i Utestas S
s PSSt L e A
(1) 36 2) 48 3) 56 4) 64

143. In an examination, a student scores 4 marks for every correct answer and loses 1 mark
for every wrong answer. If the student attempts all 60 questions and scores 130
marks, the number of questions correctly answered is

L e W60 N 6B 1 bl b o B4y 12 G Mt I
Sl St 12 de e Poe 1300 12

(1) 35 (2) 38 3) 40 4) 42

144. K is twice as old as R. Three years ago, K was three times as old as R. The present
age of K (in years) is

s F(Utusn) frzr S KB e RUE PRI E e doe R AS K
O 7 2 8 3 12 @ 6

145. Age of the father is twice that of the elder son. Ten years hence the age of the father
will be three times that of the younger son. If the difference of the ages of the two
sons is 15 years, the age (in years) of the father is

uﬁu,/Jukumﬁ_fz_wu@fa;L}e’/&,wde-;.u@g/‘,{;g*x/@,t
?c‘-cf/(uﬁur/.)/u@«&f?c‘-J%JHS
(1) 50 2) 55 3) 60 4 70

146. Five hundred students appeared in an examination comprising English, Hindi and
Mathematics. The diagram gives the number of candidates who failed in different
subjects. The percentage of candidates who failed in at least two subjects is

< Jet PG gttt ST o G g PSS A
?‘LWM&KJ(KL'JU:W»@{

English Hindi
A aa e

Mathematics
0y

(1) 0.078 2) 138 3) 638 4 7.8
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147. Givena=1.10101,b=1.01010,c=1.110110 and d = 1.001001. The ascending order
of these numbers is
?‘Ly;j'}énﬁ%/.d/;w'ui d=1.001001./c =1.110110 <6 =1.01010 ca = 1.10101,!/9@01
(D d,c,a,b (2) d,b,ac (3) c¢,ab,d 4) b,ac,d

148. At the end of a meeting all the ten people present shake hands with each other once.
The number of handshakes altogether is
SSusle o Lie o oo fid o isnyely e 1L e
(1) 20 2) 45 3) 55 4 90

149. In a group of cows and hens if the number of legs are 14 more than twice the number
of heads.Then the number of cows is

: ;uﬁ‘fz_ g?c‘-ugj 144;;’»7l;f/;;d/u;/‘u'ﬁd/u;/j:/'fluﬁ?u';&é_ KAM}:.;/
(1) 5 2 7 3) 10 @ 12

150. If 13 times a number added to itself gives 112, then the number is
el oue 3 112 s P Ve b\ G 5122 13556 L11
(1) 8 2 7 3) 9 4) 11

Q 151- 160 : Directions

Study the following information carefully, to answer these questions

Spectra Ltd Co. wants to recruit computer operators for its branch offices in various places.
Following criteria are laid down for selections:

(A) Be a graduate with at least 60% marks

(B) Have passed a PG degree/diploma in computer applications with at least 65% marks

(C) Have cleared the computer skill test with at least 55% marks

(D) Be not less than 24 years and not more than 30 years of age as on 01.09.2017

However, if a candidate satisfies all these conditions EXCEPT

(1) at (B) above, but has secured at least 70% marks in computer skill test, the case is to
be referred to the GM-Admin of the company

(i1) at (D) above, but has a working experience of at least two years in Information
Technology, the case is to be referred to the GM-Personnel of the company.
In each of the questions from 151-160, the details of one candidate are given as
regards his/her candidature. You have to read the information provided and decide
his/her status based on the conditions given above and the information provided. You
are not to assume anything other than the information provided in each of the
following questions. All these cases are given to you as on 01.09.2017.
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Give the answer

(I) if the candidate is to be selected

(I) if the candidate is to be referred to the GM-Administration
(IIT) if the candidate is to be referred to the GM-Personnel

(IV) if the data provided are inadequate to make a decision

(v) if the candidate is not to be selected

(=l 160 C151= Uiy

- M el L e s 12l e iyl

/L)/.Lf/ufd:;'é&b/@"_‘a&'gC/&/Z;Jﬁ/?vg,{:’_éuf@&:l/?ahw&c;&f'%

i AL e tB60% I (A

St P e 65 a8

bl stEssadid(C

-)’ZJU)EJLJV30/)'[LJV24/}{ 10920175, (D

L!rc‘-bfdi{u/ﬁﬁ(ﬁ/bylﬁﬂb

Ll bt AL Aot & Pt E10% Nt e g B ks ()
'l

Ly FU AL G e i F s G D ke G

/;!Qﬁﬂ@gzﬂ/;”/?abh’w/ﬂ!/'fv!’ujfd;aMﬁwﬁdmyl@byluﬁd'fﬁj 1606151

_‘gt/uﬁ’J/'u’ff:ffTuwéuk”félzui‘guv@s@;_‘ct/u:’:}Lx»k(w/?;gl.&;l.k”

@L@y&@ém.09.2017/_/&2»,

2SN

St e 1 ()

It S 2 it F) 2l I

It e Sy A/l

et L&At/ av)

St S S (V)

151. Manish has passed B.Sc (Botany) with 58% marks and has done a PG Diploma in

computer applications. His date of birth is 14th August 1994. He has cleared the
computer skill test with 58% marks.

< 199414 F 1 oS4 6Y u:uﬁfggu};wlgug‘;at%s% (GG
ULe 58% Al tudl
a1 @ @) I @ Vv

_‘L

.
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Amit Sharma passed BCA examination in 2012 at the age of 22 years with 80%
marks. After working for two years she enrolled for PG in Computer Applications.
She has secured 55% marks in Computer Skill Test.

St L n Ul e = tE80% Ut ASUL- 220520120 BCALL e
-gfuatﬁss%u:_b,ﬁww&fé_Jﬂw-wuuﬁ‘f%/z{
1 1 2 I 3) I @ v

153.

Rajat Batra has passed BCA as well as MCA with 73% marks. He has cleared the
Computer Skill Test with 79% marks. His date of birth is 5th August 1986.

ST UL e e tET79% e el el 1YL AL = 6E73% MCAMBCAL A6l
198615 e ot
1 1 2) I 3 Vv @ IV

154.

Praveen Kumar has passed BA with 68% marks and PG Diploma in Computer
Applications with 70% marks. He has secured 70% marks in Computer Skill Test. His
date of birth is 08.02.1992.

el L AL =t ET70% PG AL = b 68% B.AL Mg
-08.02.1992 4 oot UL f b bETO%
I 1 @ I 3) IV @ v

155.

Sukumar passed PGDCA in 2012 at the age of 28 years with 66% marks. After
working for three years in Information Technology he enrolled for PG degree in
computer applications last year. He has secured 85% marks in his graduation as well
as in Computer Skill Test.

KGR U PGDCA AL = bE66% Ut AUl 280520124 Ur
LA AL RS PR SR L e L

LSl tE85%
1 1 @ 1 3) I @ v

156.

P11

Prakash has obtained engineering degree in Computer Science with 66% marks and
MCA with 61% marks. He has secured 82% marks in Computer Skill Test. He
completes 26 years of age by May 2017.

et S e 2 bE61% MCA st e tE66% S5k It il 6y
e Bb26 A6 20175 L Sl tE82% 42
1 1 2 1 3) I @ v
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Suji has done B.Sc (Physics) and PG Diploma in Computer Applications with 69%

marks and 56% marks respectively. She has secured 76% marks in Computer Skill
Test. Her date of birth is 10.03.1993

Il 1Y = bE56% uﬁi&lf:“{uih}fj&(}?ulcattﬁ69% (FEADSAGEr
- 10.03.1993 Fle Gt UYL e e bET76% ety
(D I 2) I (3) 1O 4 1V

158.

Monica Sharma has obtained PG diploma in Computer Applications from a reputed
institute. She has cleared the Computer Skill Test with 56% marks. She will be
completing 27 years of age in July 2017.

Ul = tE56% wwwgfé_w_w"uuﬁ%/’};{um&ﬁ&(}?cwuwté_t i
e m P21 S 2017807
(D I (2) 1O 3) I 4 1V

159.

Amar is a science graduate with 61% marks. He has done MCA with 65% marks and 5
years of experience in the area of IT. He has secured 60% marks in Computer Skill
Test. His date of birth is 01.01.1987

LIl W e 2 bE65% MCAL e e £/ AL = LE61% 1
-<-01.01.1987 A Gt d UL f e bE60%

ORI @
3) @ 1V

160.

P11

Fatima has passed B.Sc (Honours) and MCA with 73% and 78% marks respectively.
She has cleared the Computer Skill Test with 79% marks. Her date of birth is
16.06.1991

79%_»:,,5¢/W&4;w_gug = = LE78% 15173% < IAMCA I 2T SO 46
< 16.06.1991 Pl Gt SU1-UU L e b

I @
3) I @ 1V
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Q. 161 to 170: Directions

Study the following information carefully and answer the questions given below.

Following are the conditions for admission to an engineering college. A student should

(1) be of minimum 18 years of age as on 1.7.2016.

(i1) have secured at least 50% marks in standard XII.

(i11) have secured at least 60% marks in entrance exam.

(iv) be ready to pay Rs. 20,000/- at the time of admission.

A student who fulfils all the conditions EXCEPT:

(a) at (i1) above, but has secured 80% marks in entrace exam, case to be referred to
President, Admission.

(b) at (iv) above, but can pay at least Rs.10,000/- at the time of admission, case to be
referred to Dean of the college.
Based on the above conditions and information provided in each of the question
below, decide the course of action in each case. No further information is available.
You are not to assume anything. These cases are given to you as an 1.12.2016

Mark your answer as

(I)  if the student is to be admitted

(I) if the case is to be referred to President, Admissions

(IIT) 1if the case is to be referred to Dean of the college

(IV) if the data are not adequate to make decision

(V) if the student is not to be admitted

(=l 170 L1611 Ul

_é)_./lﬁﬁc«U'fé%)ufdj;'/ﬁ'éjWJﬂK@U“UjJ@u

NeAN ST AN IS Sy (B

_n S8t 110016506 ()

W Pl tE50% Fiftestags12 i)

A Pl tE60% PSS Gii)

g & 12 5,20,0005L L1y (iv)

BTy S

6 LU 9L st ae b I S oI b E80% S Gk ()
KL 0L L Ko T (12 3,10,000 (1P kv vtk oee ()
_‘Lufy?)ahk’,g/.é,@‘aCtﬁ'r}gufgfé{.)? Jat)"fd)ufd'fﬁ/ﬂbfﬁﬂggjﬂ
-‘Lt‘/uﬁ‘}u"/'u’{f:/b;"

e deesd Bk 11220165 T,
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. 1 %4 .:Jﬁﬁbvj

PPN ST G
el gt AN
<t/ LA am
<3t L SIBusS av)
b (v)

Shekhar has secured 58% and 85% in XII standard and in the entrance test
respectively. He was born on 11th January 1998. He can pay Rs. 20,000/- at the time
of admission.

1505 _tarlac s 1998@5211»-4&‘1»wﬁgs%mss%?gﬁgu&aﬁujﬂ,w122_/5”

e 0 ie_520,0005L
1 @ I 3) I @ v

162.

Sheela has secured 75% and 80% marks in the XII standard and in the entrance test
respectively. She can pay Rs.10,000/- at the time of admission and was born on 15th

June 1998.
< G 122/10,000 5L L3 J b LEBOT 5175% o L UE LA EN 312142

_{sia 19987 150131
1M 1 2 I 3) I @ IV

163.

Ashok was born on 17th January 1998. He has secured 65% and 75% in XII and in the
entrance test respectively. He can pay Rs.15,000/- at the time of admission.

L 5L F o bET5% 13165% o PL AL E sl [ 31200t f 1998552 17 S

—e (O bie_5,15,000 55
I 1 2 1 3) I @ v

164.

P11

Aruna can pay Rs. 20,000/- at the time of admission and has secured 60% and 70% in
graduation and in the entrance test respectively. She was born on 5th April 1997.

LSl bE70%.5160% _,;}guﬁ&&}wﬁ,@@uc‘_G'Cﬁ;uz;_uzo,ooo;:’,éiuw

st 1997 1500t
1) I 2 1 3 Vv @ IV
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165. Rita was born on 12th June 1996. She can pay Rs. 20,000/- at the time of admission.
She has secured 45% and 85% marks in XII and in the entrance test respectively.

AL 3128 e 12 1,20,000 3L Lotsas-Burlag o 199602 128 5
R L S t1E85%11145%
1 v @ I 3) I @ IV

166. Sunil has secured 55% and 75% in XII standard and in the entrance test respectively.
He was born on 10th November 1998. He can pay Rs. 20,000/- at the time of
admission.

L st _twelae 1998 29 1005- Ut & Sl LETS% 19155 %0 PL A S E sl 5128 S
e (Ei1z_5120,000 0523
(1) O 2) I 3) IV 4 Vv

167. Prabhat has secured 80% and 60% in the entrance test and XII standard respectively.
He can pay Rs. 20,000/- at the time of admission. He was the oldest in his class.

&3120,000 =3 L & 1393 L fo bE60% 1180% LUt 21280 FIE = by
_§.ucho,u:ym_§.tﬁﬁ;u
OERY 2 1 3) I C Y

168. Akhil was born on 9th July 1997. He can pay Rs. 20,000/- at the time of admission. He
has secured 60% and 80% in XII and in the entrance test respectively.

VLA E 12 1o 212 4120,000 ssisdl & _tuetye o 19973029 K21
— ULl bE80%.5160%
1 1 @ Vv 3 IV @ I

169. Arun has secured 55% and 65% in XII standard and in the entrance test respectively.
He was born on 19th May 1997. He can pay Rs. 20,000/- at the time of admission.

e 1997 19k G S U1- e Ul LE65% 1155% <2 PL Ut LS E sl 31205
e (Eiiz_520,000 053 L1
O 2 Vv 3) I 4 IV

170. Kamala has secured 50% and 55% in XII standard and in the entrance test
respectively. She was 16 years 5 months old as on 1st May 2014. She can pay Rs.
20,000/- at the time of admission.

AU 20145 it & Pl bE55%.5150% o PL St A E sl 5128
—e T 19220,000 053 & 1s_ e al5JL-16

(1) I (2) I 3) I 4 Vv
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Q. 171-176: Directions

In each question given below a statement is followed by three courses of action numbered
I, IT and III. A course of action is a step or administrative decision to be taken for
improvement, follow-up for further action in regard to the problems, policy etc. On the
assumption that everything in the statement to be true, you have to decide which of the three
given courses of action logically follow for pursuing.

U E S pe§ HA S AL gt S e, T eSS Dl st
LoV pt S E St AT B3 e SAL s Sl PN L 5P e
_‘Lv/d;;?uﬁlrw/?yé}”w/cu:guﬁl

171. Statement : While hundreds of childless couples are waiting to have a child for
adoption, children are sold by some agencies to foreigners for huge sums of money.
The agencies source children from poor sections of society illegally.

Courses of actions:

@D A committee should be constituted to look into this matter.

(IT) A law should be enacted to make it mandatory for all nursing homes and
hospitals to record births and deaths and to admit abandoned children in
specified homes.

(IIT)  adoption by foreigners should be completely banned.

(1) only I and II

(2) only II and III

(3) only I and III

4) I, IT and 1T

u"féﬁ:d/léc,b/‘lgd/u,':"‘.{'i:ufcaz/;@"c.{_ééﬁf/u;ggjﬁ,«bUu;ﬁ‘lf%iuy

_UE’L/U'IE{/)’L}! @fcﬁb%/£CPfufu%i_‘Lpby/wj/uad)/::’/U}f

< g&@dﬂ:@é[ SEN SIS 75 ZR(

Syl b)d L;Vgg.&{/;/sg,wuw,»u,m&/uyw,,un.@(a (1)
et U AU

_%gééd/zgd’ga;_»f sz (I

sl (1)

1119700 ) (Y ))

11197)) P!

M LI (@)
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Although strict vigilance by the police has brought down the rate of night crimes,
daylight robberies and chain-snatching etc have only increased.

Courses of action:

q)) The police should be asked to stop its vigilance programme during nights.

(ID The police should be given powers to kill criminals involved in daylight
robberies and chain-snatching.

(Il  The police should be directed to reorient its strategy so that daylight crimes
are not ignored.

(1) Iand II (2)  onlyIII
3) only I 4) ITandIII
uﬁaﬁbﬁsdj:cfﬁczmu%u(c))-%éfu{uﬁ F’]&c«bczd//dfd/ugz’f

—e Lol

A L

I LGt e bl b= Yy

g bloa U BIL LI AL nd e £ o5t Gdoy
sz FE Ut S g S ke S B s S b Greend Uy
mais @ M1 (1)

Ml (@) 154 )

173. The bank employees have decided to go on a strike again.

P11

D The employees demands should be accepted

(IT) The employees going on strike should be sacked

(Ill)  The demands made by the employees should be sympathetically considered.
(1) Torll (2) Torlll

(3) IT or 111 (4)  OnlyIll

A6y Jb sl d bl
LedUAAde o

PN g O3 TWIEST VA

b oA am

mer () me1 ()
Mo~ @) LI (3)
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174. Condidates who appeared for an examination are agitating that several questions are

out of syllabus.

)] A committee may be constituted to look into the matter.

1)) The examination may be cancelled.

(Il  Re examination may be conducted if the committee recommends so.
(1) I 2) 1

3) Iand II 4) TandIII

e e WA St e ST P Uz sy

e HEE L L Ly e

_u:/lgéér}‘at@’l
_u:/l.ié:ﬁb/[’d}&tg”;(_/(j/u’ﬁ

I @ I
Msl 4 10 sl 1

@D
D)
(1)
(1)
(3)

175.

P11

Many students of the school fell ill for the fourth time in a row in the last six months

after consuming food prepared by the school canteen.

q)) School management should immediately terminate the contract of the canteen

and ask for compensation.

D The school management should advise all the students not to eat food articles

from the canteen.

(IlT)  The owner of the canteen should immediately be arrested for negligence.

(1) only IT (2) onlyII
(3) only I and II (4) onlyIland III

_ufé_n‘/k‘ﬁc;a/ﬂfﬁdyyuﬁohgé‘cd.mﬁjgufﬂd/d}ﬁ'

e b SRV B S 3 T U
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176. The number of dropouts from the municipal schools has significantly increased after
the withdrawal of mid-day meal scheme.

@

(II)
(1)

(D)
3)

The Government should reconsider its decision of withdrawal of mid-day meal
scheme.

The Governmentt should close down some of the municipal schools.

The Government should carry out a detailed study to find out the reasons for
school dropouts.

II (2) onlyl

only I and III (4)  onlyIIand III

e il bl uut;tﬂ@bz_ué_/vf}(}‘;u.tuﬂﬁﬁ}midmﬁ%cfﬁdf;u

e bt Ll Bl G Fe A se® ()
BV ST 7Y A R SO )
_ufoitg‘}f”zagmJL/J]&QLJPM;L?I&% (IIT)
152 @ mo (1
Mo S (4) Ml ()

Q. 177 - 180 Directions:

In each of the following questions a statement is given followed by two courses of action.
A course of action is taken for improvement. Read the statement carefully and give
answer as below:

if only course of action A follows

if only course of action B follows

if either course of action A or B follows

(IV) if both courses of action A and B follow

(V) if neither course of action A nor B follows

AL M L L e lbind £ Pe Vol Ubetird 5 180017

D
(I)
(TI)

P11

Sl e At L L
LU AASAN @
LeUraB S0
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b e lBiusBAAS  av)

Sl e BIUB SAT (V)
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177. Statement: Increasing levels of air pollution is creating health hazards for people living
in the cities.

Courses of action:

(A) All industries should be shifted to the outskirts of the cities.

(B) Transport authorities should take steps for converting all public transport
vehicles to run on CNG.

(1) I 2 I
3 1 4 IV
-‘ngn%oﬁ:’/déﬁd)QTdchWufi/d/&;JTéLﬁ

A e LB

%tgt/fﬁu:uiwwiéwffu?”rﬁ (A)

eSSt JONG Sy b G i e s e (B)
n I )

vV @) m 3

178. Statement : Despite good economic progress of the country, significant number of
undernourished children has been observed in the rural parts of the country.
Courses of action:
(A) Govt should increase Wealth Tax/Income Tax and use that money for
upliftment of the deprived class.
(B) Govt should introduce schemes like free meals in primary schools and make
primary education compulsory.

(D \Y 2) IV
3) I 4) 1
e Q3L SE U e 2 3K bt Ul ol Mozl & 355 by S e

= AN

e bt e L3I L et S Fsten® ()
e L S el AL IS e (B)
v Q) v @
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Statement: A university librarian reported increased cases of theft of books from the

library.

Courses of action:

(A) Stricter security arrangements should be put in place in order to prevent such
incidents.

(B) All the students in the university should be made to pay a hefty fine in order to
replace the lost books.

(1) I 2 O k) 1 @ Vv
e e e WL g SUil e S AU Sl o AL Sy dl

1 e UL

Sl e F sl LS e B (A)
bRl S g e L8 AUl (B)

Vo @) e () m ()

180.

Statement : At least five students were killed due to a stampede in one city school as
the students tried to leave the school building, fearing short circuit.

Courses of action:

(A) The principal of the school should be arrested immediately.

(B) The Govt should immediately order closure of the school permanently.

(1) I 2 1 3) I 4 1V

-@j’f&}"d/yékﬁ’{Lj/\vé/u:tffd/éﬂtc’—&/ud/d}ﬁ’wgéfc’—dféJ/';‘uf//l;’u.L{
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181.

P11

Two positions of dice are shown below. The number of points that appear on the face
opposite to the face containing 5 points is

Lun & gl gLEs e Bfignd Syt

I 3 2 1 3 2 4 4
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P has arrived at 3.30 pm, 40 minutes later than Q. Q was present 15 minutes before the

scheduled time of the meeting. The meeting was scheduled at
(1) 2.55 pm (2) 3.00 pm 3) 3.05pm 4) 3.10 pm

i Bt Pt s2015 o D L B Q L0330 4T P Bberd0 = Q

?u?g@;
£.3:00 50 (2 w225 SE2 e (1)
10 E3 0 (@) 2583 m  3)

183.

If xyz represents a number written in the decimal system, then the suitable value of x in
the equation 5x2+2x5 = 887 is

d/ X JW5x242x5 = 887 e lsls st by J/&’Vd/u&é = (decimal system) WS/ 241 xyz I

eyt
I 6 2) 7 3) 8 @ 9
184. The mirror image of TERMINATE is
&3 5% TERMINATE
(1) TASAMIMATA (2) AHTAMIWSAAT
3) ATAVIMSET (4)  ETAMIMSET
185. The number of triangles in the given figure is
el ot S e

1 12 2) 18 3) 22 @) 26

186.

P11

Yard : Inch : : Quart :
(1) Gallon (2)  Ounce (3) Milk (4) Liquid

Z.L/’)( o é| Zj/&
2o @ o () S @ &Koo
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P-1

187. 11:123::23:

() 531 (2 529 (3) 527 4) 523

188. A, B, C, D and E are sitting on a bench. A is sitting next to B, C is sitting next to D, D
is not sitting with E who is on the left end of the bench. C is on the second position
from the right. A is to the right of B and E. A and C are sitting together. Then the

persons on either side of A are
Ut AL E Dol LDe it C o)l EBa bt Aot &, ELIE #IA, B, C, D
T A CA-e At DL EnlBoc gy pme U hCc e r SV LE
s SEII U d A
E,D 4 C,E

(1) B,D 2) B,C 3)

189. In the figure below the number in the blank space is

e ledy Ldb U U

5 4 7 8
6 9 5 10
3 7 2 ?
1 2) 4 3 3 4 6

190. In the figure below, the number that fits at the symbol ‘?’ is

S Usirsuludy 2 el S S

18

N

%

(1 18
3 9

P11

24

N

%

8
2) 12
4) 6
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191. In the figure below, the number that should be at the symbol ‘?’ is

?‘au;/‘mw)/uﬁ' 2! ywu’:ﬁé@uﬁd;’

4 8 0
O O ()
7 4 2

(D 0 2 2
3) 11 @) 12

192. In the figure below, the number at the symbol ‘?’ is

S Us vl el 7 A2

TN SN S0

(H o4 (2) 144
3) 169 4) 25

193. In the figure below, the number that fits at ‘?” is

S (sissk vwﬁ?J ' yw:uﬁ‘,ﬁ?@uﬁd;

7 4 5
8 7 6
3 3 ?
29 19 31
Hn 3 2 5 3 4 4 6

P11 45-A



P- 1 Booklet Code : A

194. In the figure below, the number that should be at the symbol ‘?’ is

S (sissk L/ui:@/ ' uw:ui‘dﬁfd;uﬁw

4 5 6
2 3 7
1 8 3
21 98 ?
(1) 94 2) 176 3) 16 @) 73

195. The number of triangles in the given figure below

SNSRI

I 18 2) 20
(3) 24 4 27

196. The correct choice for ‘?” in figure A from figure B.

-‘Ly;t;“«'ué;BﬁiL' 2 el A

Figure-A Figure-B
VAN <] e > 1> <L
A B (©) (D) I 1 11 |\

1 1 2) I
3 I 4 IV
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The correct choice for ? in figure A from figure B.
?‘Lg..,e’wéj;w@_i' 2 et LA
Figure-A Figure-B

JARIVILVAI AlVAIANIVAIS

I II I 1\Y \Y%

1 1 2) 1 (3) I @) 1V

198.

If the digits of the number 5726489 are arranged in ascending order, the number of
digits that remain at the same position is

(D none (2) one
3) two (4)  three
: ;Mﬁ{urm(’w{rw&’@ et b8t 5 3 P vin L 5726489141
SRG) :AZANNG)
@ » o 3)

199.

In the number 3276158, if the digits were arranged in ascending order, the digit in the
ten-thousands place is

ekt S 32l 5 8 (P e £3276158 0.1
(D 1 2 2
3 3 “4 4

200.

P11

The digit that should come next in the number sequence is

LI (Y SE L1y
987654321876543217654321
(1) 9 2) 8
€) 4 6
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